FREMHE (EET—)

(1) PREFTEM

1. PREBIFELL TRLTWS,

S R
— = |DFEYEIRD| N _
383 RKEES8S R TIRDEN | HHBEL mEEF &t
3
213 295 46 22 12 2 615
34% 47% 7% 3% 1% 0% 100%
HEE =2.00%) =i
b L= 124 (1) R
(1%) | A B N PerFrrreyy OF5E5=213A(34%)
E3BbuL =22 e (34%) @AFETIET = 2054(47%)
AE%) SHFUEIELLEL=46.AL(7T%)
YE38biE -
ﬁ.f!:;iﬁrf O E53BhiL = 224(3%)
Chb Bl =12.4(1%)
205 5047 %)

DEBFLEFDRFEIHSETNSD,

2. FRIEKYLBET, B E

S E
= m= = [BFEYEIRD| N _
585 | KIEESRS . TBRDEL | hhsh fREE b
£
156 272 106 15 36 4 614
25% 44% 17% 2% 5% 0% 100%

X ZEREITS—1 (00)ZFRL

#IE’E=4-MU“JI. —
i RN {'353‘:155-‘&

b iEL = 36| ] S
A% NI BRI @5%) 0585 =156A(25%)
E3BbuL=| [ @ KT 58S = 2724 (44%)
SAeW ©hEYT58bHEL = 106A017%)
AR QESEHELV=16402%)
Ot S dELy= 364 (5%)

L= 106 A(17%)

B WMOE = 40(0%)

FEEIRI=
272 M (a4




3. REELVNFREEM-BRXSHBTEIMENS{HD,

BEEE
— = - HFEYVEIBD . ]
RS | XfkES - Bbhi | bhoky EEE H
N
141 265 114 27 42 1 615
22% 43% 18% 4% 6% 0% 100%
PR s | RIS IS £3B3 =141h
Aew) | @2%) O %385 =141 A(22%)
£3BbuL=| B REHEIET = 2654(43%)
27 AH%) / O HE YT S5EbHL = 1144(18%)
5EUEIBDY - e
e 11angEsy| | O£ 35 Bhil= 27T A(4%)
Ohb BAELy= 424 (6%)
@ MEE =1 4(0%)
REEIBRS =
2654 (43%)

4. FRIFFEMNFECBSERRPECEMBEEADSFREBRPFEETOTIVS,

ME%)

hifn gLy =35()

EI3BbUL-=
41 A (6%)

hEYEIBbL)

Lrv=119.4(19%)

BEE
- = - HEVEIRD| _ . N
585 KEZS - TOBRDHE | HhHSEN | i
&
154 239 119 1 35 2 615
25% 38% 19% 6% 5% 0% 100%
----- 385 =154\

(25%)

FEEIRS =
230 A (32%)

OF 383 =154 A(25%)
@FREETIEIT =230.4(35%)
ShFUTIEHEL=119A15%)
O FIEHIEL = 41 A(6%)

Qi Sl = 354 (5%)

@ |mOE =20 (0%)




5. FRIZVEHFMNICRIDTES (RLLVBIITHS.

e E
- = - |DFEYVEIRD| _ _ - N
RS | RIEESRS - IBDHEL [ HhoEL REEF H
N
125 276 101 53 34 1 615
20% 44% 16% 8% 5% 0% 100%
#|EE=1..0%)
/ E3BR3=1254
:'I"Jﬂ";JJ:EL"=34 II' “ | I:ED“:I
A5%) { IR OFSE3=125A4(20%)
E3BhuL = BRETIE I =2TEA[44%)
53 A(5%) - N
N DHFTUTIEDLEL=101A16%)
EEYESIBbEY = A
L= 101 A(16%) O EF3IEHIELy =53 A(8%)
O &L= 34.4(5%)
@ MmEE=1.,00%)
FEEIRS =
276 A (44%)

228 A (37 %)

BHEE
- = . |BFEYVEIRD| _ _ . N
585 KEZESRS - TIBDHEL | HhhsiL #EEE H
N
150 229 112 46 1 615
24% 37% 18% 7% 0% 100%
BEE = 1.00% | ———
L IAEEr D (| SEEEE S £383=150A
aCL I L = O£585 = 150A(24%)
£38buu= | S @AEEFIES = 2204(37%)
48 AT %) . i}
OhEYZTIBLEL=112A18%)
BEYESBhu| | - o
b= 1124018%) | § @SB b= 46A(7%)
O 5Ly = 52A(3%)
@ WMEE=14(0%)
KEEIBS =




1. FROBHREIBREAN. A TERETHD

EEE
- = — = |PFEYEIRD| N i
RS | K&EESRS - TIRDEL | hhshl FEEE H
£
157 280 72 32 45 2 613
25% 45% 1% 5% 7% 0% 100%
X ZEEBELS—2 (MWERRL

7 %)

M5 %)

SFEVESEDE
Lv=T2A011%)

FEEIRI =

260 A (45%)

£38buL=32| 4

BEE =2 0% ————

biatE = as A |

3RS =157A
(25%)

8. Fald, ETHREITEATHLIESDZELTILVS,

OF38 3 =15TA(25%)
@FREETIET = 280A(45%)
SHEFUFIEHEL=T2AN1%)
O FIEHIEL = 32A4(5%)

Ot HAELY = 45 A (T%)

@ |EE =20 (0%)

S E
= m= = [BFEYEIRD| N _
585 | KIEESRS . TBRDEL | hhsh fREE b
£
146 211 140 59 30 3 614
23% 34% 22% 9% 4% 0% 100%

X ZEREIS—1 0WZEFR<

ft i L = 30|

A4%)

£3BbuL=|

59 408 %)

5EVES8BbY
L= 140.A(22%)

(23%)

£383=146A

OFIFES = 146.A(23%)
@FREETIET =211 A(34%)

FEEIRI=
211 A (34%)

HFUTIBELEL=140A(22%)
O F3EHiELyv = 594 (8%)

Ot BAELY= 30404 %)

@ MEE=3A00%)




9. FRIT, FREFBORBEREICHZEANTNS,

BEE
— = e |BFEYVEIRD| _ _ - _
RS | RIEESRS - TORDEL | hhsh REEF H
&
148 266 105 18 49 4 615
24% 43% 17% 2% 7% 0% 100%
BEE = 400%) | ———
hﬂHEJL:L"=4Q-'II- Al N £383=1484
AW | N == OF3E35=148A(24%)
£38bhuL=| i @ KEE 385 = 2664 (43%)
18 402 %) Iy - - .
: OHEYEIEDEL=105A(17%)
HEYESBDYL| - o
b= 105A(17 %) QESEbLLEL=184(2%)
© 4t B ALY = 49A(T%)
@ MEE = 4.4(0%)
AEESES =
266 M (43 %)

10. PROBTEWERDE, 2L THI=VNEBSIR[FHLITED,

5 B
—m= mm= |[PFEYEIRD| N i
E3R5 | KEESRS AL BIRDEL | hhBEL EEE &
S
104 218 143 66 54 4 614
16% 35% 23% 10% 8% 0% 100%

X ZERZEIS—:1 (0%ZR<

HH BB 383 =1044
b = 54 " (18%)
AB%) | X R OEF383=104A4(16%)
+3Bbtn=| Y o @AHEFSES =218A(35%)
86 A(10%) @HFTYFIERLEL=143.0(23%)
OEFSBEbEL=66A(10%)
Ot B 1Ly = 544 (8%)

KHEESES = -
e @ |EE = 4.4 (0%)

hEVEIRLY
Lv= 143 A(23%)




(2) FEES

1. EEDEEEVETETHS,

S R
—m= —m= |[PFEYEIRD| N i
E53R5 | XEESRS . IRDEL | hhBEL RO it
3
144 278 88 42 36 2 615
23% 45% 14% 6% 5% 0% 100%

bl =36 s I €383 = 1440
(5%) " S BRI (23%) —
' 3 MR OF 585 =144 A(23%)
t38buL a2 S @ KKESES = 278 A (45%)
AE%) SHFYUFIEHLELV=88A014%)

0+ 38 Ly =42 A (6%)
Chd &ALy = 360 (5%)
@ mEE=2A0%)

HEYEIBRL|
L= 88A014%)

KHEIES =
278 A(45%)

2. BETREENFFEMGEZIRL, HHYPFLTLRVIZEZThS,

S E
= m= = [BFEYEIRD| N _
585 | KIEESRS . RGN | hhsh fREE b
£
174 296 74 20 22 4 615
28% 48% 12% 3% 3% 0% 100%

il
binaiElv=224

K™ 385 - 17aA —
FI3BbhiL =20 ' @FEFIE S =296A48%)
AE%) SHFUEIEDLEL=T4A12%)

SEYESIBDLE = Ll

L= T4A012%) O F 3Bl = 20 4(3%)
OddrBIELv=22.4(3%)
@ WmOEE =4 000%)

FEEIRS=

208 A (43%)




3. FAIBEDLE(T, RILEFEETFOTND,

ERE
= = c = |DFEYEIRD| . _
RS | RIEESRS - TORDEL | hhsh REEF H
£
325 208 34 8 10 5 615
52% 33% 5% 1% 1% 0% 100%

H|EE =5,0%)
binsiu=104 ';I
(1%) | DFFIES=3254(52%)
+38hu =l @FREFIES =2084(33%)
ALT%) SHEYESBDEL = A (5%)
SFEYVEIBDLE F383 =325 = —_—
L\=:34J~.(5‘ﬁj/ o) G%TE?%L\—EAU%}
XEEIBRS = Chh el =10A01%)
208 A(33%) @ MEE = 5.4 (0%)

4. FATEERETALTELOERZERT KSITDHUTTLVS,

BEE
- e _ |BEVEIERD| _ _ - .
ZO85 KEZESBS - BH5ELEN | HhsENn EME B
(=N
95 140 173 143 34 5 615
15% 22% 28% 23% 5% 0% 100%
I | zm3=esa
b b5 = 34| (15%)
Ai5%) 5. Z:Z"' OFS3B3=95A015%)
F3Bhi= | i @REFTIEI = 140A(22%)
btk bl O HEYES5EhMLr=173A(28%)
FEEIES = DFI3BEHAEL=143.4023%)

140.4022%)

O b B1ELY = 344 (5%)
@ WMEE = 54(0%)

SFEVESIBDE
L= 173.A(28%)




5. BHOREFEEREIE A 28ELUE B 1 BEEE C 30 901E D LA

MT%)

141 (22 %)

SFEYVESIBEDE
L' = 136.A022%)

bing L= 47|

E38bin=

(15%)

ERE
= = c = |DFEYEIRD| . _
RS | RIEESRS - TORDEL | hhsh REEF H
£
94 170 136 141 47 2 615
15% 27% 22% 22% 7% 0% 100%
£383 =04k

170A2T %)

XEEIRS =

OFIBEI=94A[15%)
BAFTIE I =1TOAN2T%)
DHFUTIBLEL=136A(22%)
QESIERGL =141 422%)
Ohheilv= 4T A (T%)

@ mEE=2,00%)

(3) EfE-FAER-BE

1. FAITHLSDRE-RIAKRIZEBEL , FREFJODPTITOTLD,

275 h(44%)

HEE
N e |DFEYVESIRH| _ _ - ]
585 | KIEESRS . RGN | hhsh fREE b
o~
133 275 119 26 36 1 615
21% 44% 19% 4% 5% 0% 100%
b L= 38| %75(;1:;33)\"
A(5%) OFIES =1334021%)
£3Bbuu=| @AEKEIET = 2T5A(44%)
28AE%) |/ O HEYESEhHL = 119.4(19%)
sEYE38DY| - e
L= 1'|Q.h(1Q':j ©E3BHEL = 26A(4%)
O b B = 3BA(5%)
@ |MEE=1A0%)
KEESBRS =



2. FFEBOBFREZELTRNVY, BITSVLDILEFOENTE,

ERE
= = c = |DFEYEIRD| . _
RS | RIEESRS - TORDEL | hhsh REEF H
£
161 272 86 19 50 2 615
26% 44% 13% 3% 8% 0% 100%
?'I‘Jﬂ"EJHL'mﬁtl_k III ........... {-—:"E—}=1B1k

B%)
£38buli=19),
Ar3%)

HEYE3Bhy|
L= 86.A013%)

FEEIRG =
272 A (44%)

(26%)

OF3IE I =161 A(26%)
@REETIET =2720044%)
@HFEYETIEDEL=86.A13%)
O EFIEHEL =19A4(3%)
Ot &L= 50 A(B%)
@ mEE=2A00%)

3. EBOFE CIFRBIKI >R CHEBREBALTEATHOA TS,

BERE
—m= - |BEYEIBRD| _ _ . _
385 | XIEESRS - THBRDEL | oA ERE E
N
187 263 64 19 53 3 615
30% 42% 10% 3% 8% 0% 100%
BEE = 30N ———
h:h*r":xlbcL*=5:3_h-"l ST —
%) Ly —*75@%;;3?* OF3585=187A(30%)
£3BbuL =19/ SRR @ AIEESE S5 = 263A(42%)
ABH__| O BhEYE 5 BbiL = 64A(10%)
BEIESEDL 0% 5 Bhil= 104(3%)

L' = G4A010%)

FEEIRS =
263 442 %)

Ot B 1Ly = 534 (8%)
@ WEE = 3A0%)




4. FAFFEROAFETHORYDOFBZETRENICOOTINS,

ERE
= = e |BFEYVEIRD| _ _ . _
RS | RIEESRS - TORDEL | hhsh REEF H
£
206 240 98 13 28 3 614
33% 39% 15% 2% 4% 0% 100%
X ZEREIS—1 (0WZERL
poenn=aanl QT
(%) __[#3®3 =208 OF3835 =206A(33%)
£38buL=13) (33%) @ KIFEEIES = 240A(39%)
ACH__, O HEY T 5 Bhtily=98A(15%)
HEVESEDY - L=
L"=98.h(15'ﬁ.; OFIEHEL=134(2%)
© dofh & A2 LY = 284 (4%)
@ MEE = IA(0%)
FEESIBS =
240 A (35%)

5. WAWAIERAITEIL, ELLTRYALRHS,

BWEE
— - _ |®FVESIBDH| _ _ R )
585 | KIEESRS . TBRDEL | hhsh fREE b
(-
189 260 76 32 30 2 615
30% 42% 12% 5% 4% 0% 100%
paatge=a0all  MIE T
(4%) _{‘35@1;;39* OF 385 =189.A(30%)
£3BbiL=32 BRETSES = 260A(42%)
AEX) O HBEYESEhL\ = T6.A(12%)
HEYVEIBLL| - o
L"=?ELJ\(12%; 0T 3EH%ELyv=3205%)
O hm B 1LY = 30.4(4%)
@ ®WEE=2.0(0%)
AEEIRS =
2604042 %)




6. FAITRANLFE DR IICREZF > THEBRFE CRRFEZTLEDH TS,

5 B
== - HFEYEIRD| N i
TIRS | KEESR - TIRDEL | HhdhEL RO H
£
124 247 130 33 3 615
20% 40% 21% 5% 0% 100%

MiE%)

F3BhuLn=|
33.A05%)

Ly = 130.421%)

i i L = 52

HEYEIBbE| A

383 =124
(20%)

KEEIRS=
247 M[40%)

OF3IEI=124A4(20%)
@FREETIET =247 A[40%)
HFYTIBELEL=130A021%)
O EFIEHIEL = 33A4(5%)

it BAELY= G2 A(E%)

@ MEE=3A00%)

(4) Z itk

1. FEEFIRACEYZEIZTEICHEL TN TS,

248 A(40 %)

HEE
- = - HEYVESRDH . ]
385 | Xf&ES . BHEL | o O b
o~
160 248 66 43 6 615
26% 40% 10% 6% 0% 100%
EBEE = 6.A0%) .
bpiiLi=esA) 385 = 1604
{10%) . (26%) OF3E3 =160A(26%)
+38biu=a3) @AETSES =248 A(40%)
AE%) SHFUEIEDLEL=66A10%)
HEYEIBDYE = -
L"=BBJ\(1III%; O F 3Bl = 43 4 (6%)
O dofh b LY = BE.A(10%)
@ WEE = 6.0.(0%)
KEEIE3 =




2. EEFHORPEIOH/EDTFT—OIL—ILICDLNTLo MY EEELTN S,

EEE
= = c = [DEYEIRD| . _
RS | RIEESRS - IBDHEL [ HhoEL REEF H
£
233 264 40 18 29 5 615
37% 42% 6% 2% 4% 0% 100%
®EE = 5A0%)
hﬂ\f:fd:L\ =20, J A atlhviel T
LD (i A\(|Fl S _ OF385=233A(37%)
Z3EnkL =18 —{FE A ® K% 583 = 2644 (42%)
%) @HFEYETIEDHEL = 404 (6%)
BEYESEDE SRR .
L~=-fu:u\.:w;.ﬁk DEFIERELV=18M(2%)
O b BELY = 204 (4%)
REE3ES = @ WEE = 5.4(0%)
2645 (42 %)

3. FAIFERI GEZIOFHM. RERELGLE) EFoTVD,

175 h(25%)

BEE
R e |BEVEIRD| _ _ - )
o585 KEESBS - T5BDHEL | Hhbhoil R 5
A
351 175 29 13 17 3 614
57% 28% 4% 2% 2% 0% 100%
X ZEEZIS—1 (0%ZEK<
pinsrri= 17 A
(2 %) . DFIES =351 A5TH)
+3Bhin=13 @FETIEI=175.A(28%)
AE%) SHFEUTIERLEL=204(4%)
HEVEIBDE|| = o
Lv=20h04%) |/ F3M3 a5 L, DEIEHEL=134(2%)
| - =
< BEsE5<| (57 %) Db EiEL =174 (2%)

@ WEE=3A0%)




4. REFVCHPHBETEIZELALHEEL TS,

ERE
= = c = |DFEYEIRD| . _
RS | RIEESRS - TORDEL | hhsh REEF H
£
222 217 58 41 48 3 615
36% 35% 9% 6% 7% 0% 100%

FEE = 300%) ———
binb = ag Al

(7% { =@ 5 —

E3Bhu=41] AN ||| N e @KEESES = 217A(35%)
) f h\\\\h VR SHEYESEhMUL = 58A(9%)
*‘fféiﬁ‘iﬁ O F3Ehily= 41A(6%)

O b &Ly = 454 (T%)
@ MEE = 3A(0%)

FEEIRS =
217 A[35%)




